TERREBONNE PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				3,819	cords	
Pulpwood (Total)				3,819		
Saw Timber						
Hardwood				389,563	board feet	
Saw Timber (Total)				389,563		
Total Pulpwood, Chip & Saw,						\$426,133
Saw Timber FOB Mill						
Total Forestry Stumpage						\$194,978
(Total)						
Forestry (Total)						\$426,133
FRUITS						
Citrus						
Navels	12	10.0	250.00	2,500	bu.	\$50,000
Satsumas	12	33.0	495.00	16,335	bu.	\$326,700
Other Citrus		2.0	300.00	600	bu.	\$10,800
Citrus (Total)		45.0				\$387,500
Figs (Total)		1.5	300.00	450	lbs.	\$788
Fruits (Total)		46.5				\$388,288
HAY FOR SALE						
Grass (Total)	7	3,000.0	2.00	6,000	tons	\$360,000
Hay for Sale (Total)		3,000.0				\$360,000
Home Gardens (Total)	12,500					\$3,250,000
NURSERY CROPS						
Fruit and Nut Trees (Total)	*				acre	\$8,000
Floraculture & Bedding	*				acre	\$25,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$40,000
Nursery Crops (Total)						\$73,000
PECANS						

PECANS						
Improved (Total)	*	2.0	250.00	500	lbs.	\$650
Pecans (Total)		2.0				\$650
Soybeans (Total)	*	300.0	45.00	13,500	bu.	\$79,785
SUGARCANE						
Raw Sugar (Total)	18	9,200.0	5,262.00	48,410,400	lbs.	\$5,939,956
Molasses (Total)		9,200.0	158.00	1,453,600	gal.	\$305,256
Sugarcane (Total)		9,200.0				\$6,245,212
VEGETABLES						
Beets (Total)		1.0	250.00	250	doz. bunches	\$1,750
Broccoli (Fresh) (Total)		2.0	300.00	600	cartons (20	\$12,000
					lbs.)	
Cabbage						
Fresh	*	6.0	500.00	3,000	sacks (50 lbs.)	\$27,000
Cabbage (Total)		6.0				\$27,000
Cauliflower (Total)		1.0	340.00	340	cartons (20	\$6,800
					lbs.)	
Cucumber						
Fresh		5.0	250.00	1,250	bu. (50 lbs.)	\$22,500
Cucumber (Total)		5.0				\$22,500
Eggplant (Total)		1.0	450.00		bu. (33 lbs.)	\$9,000
Garlic (Total)		1.0	450.00	450	lbs.	\$2,250
Irish Potatoes						
Fresh	7	9.0	180.00	1,620	cwt.	\$56,700
Irish Potatoes (Total)		9.0				\$56,700
Mustard (Fresh) (Total)		8.0	550.00		doz. bunches	\$30,800
Okra (Fresh) (Total)		7.0	225.00	1,575		\$47,250
Onions (Total)		1.0	100.00		bag (50 lbs.)	\$3,000
Green Onions (Total)		1.0	650.00	650	lbs.	\$1,950
Peppers						
Bell		2.0	600.00	1,200	bu. (28 lb.)	\$24,000
Peppers (Total)		2.0				\$24,000
Pumpkin (Fresh) (Total)		2.0	80.00		cwt.	\$4,000
Pumpkin - Cushaw (Total)		1.0	130.00		cwt.	\$3,250
Shallots (Total)		2.0	1,000.00		doz. bunches	\$14,000
Snap Beans (Fresh) (Total)		3.0	100.00	300	bu. (30 lbs.)	\$9,000

TERREBONNE PARISH

TER	RE	R	O	NNI	FР	ΔR	ISH
1121	$\mathbf{I}\mathbf{V}\mathbf{I}$		•		· -	/1 II	

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Southern Peas (Fresh) (Total)		2.0	75.00	150	bu. (24 lbs.)	\$3,750
Squash (Fresh)						
Yellow Squash		1.0	215.00	215	bu. (45 lbs.)	\$4,300
Zucchini Squash		2.0	230.00	460	bu. (45 lbs.)	\$9,200
Squash (Fresh) (Total)		3.0				\$13,500
Sweet Corn (Fresh) (Total)	*	5.0	650.00	3,250	doz. ears	\$11,375
Tomatoes (Field) (Total)	10	6.0	1,550.00	9,300	lugs (20 lbs.)	\$186,000
Turnips (Fresh) (Total)	10	6.0	525.00	3,150	doz. bunches	\$22,050
Vegetables (Total)		75.0				\$511,925
TOTAL ALL PLANT ENTERPRIS	SES					\$11,334,993

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Crawfish (Farm) (Total)	16	536	Acres in Prod.	378,000	lbs.	\$207,900
Minnows (Total)	*	12	Acres in Prod.	15,000	lbs.	\$45,000
Fish bait (Total)	31			59,300	lbs	\$385,450
Alligators (Farm) (Total)				158,511	ft.	\$3,962,790
Oysters (Total)	473			394,304	sacks	\$4,929,943
Soft-shell Crabs (Total)	10			1,750	doz	\$38,500
Aquaculture (Total)						\$9,569,583
FRESHWATER FISHERIES						
Crawfish (Wild) (Total)	11			8,344	lbs.	\$6,059
Freshwater Finfish (Total)	18			29,402	lbs.	\$131,380
Freshwater Fisheries (Total)						\$137,439
MARINE FISHERIES						
Shrimp (Total)	1,488			30,778,524	lbs.	\$27,722,217
Crabs (Total)	392			7,629,931	lbs.	\$4,773,285
Commercial Finfish (Total)	13			3,376,246	lbs.	\$9,430,193
Marine Fisheries (Total)						\$41,925,694

Fur Animals (Total)				10,443	pelts	\$101,297
Alligators (Wild) (Total)				49,845	ft.	\$1,495,350
HUNTING LEASES						
Waterfowl (Total)	75	191,500	No. Acres		acre	\$2,872,500
			Leased			
All Other Game (Total)	11	29,200	No. Acres		acre	\$204,400
			Leased			
Hunting Leases (Total)						\$3,076,900
Honey (Total)	7	29	No. Hives	1,420	lbs.	\$838
TOTAL ALL FISHERIES & WILI	OLIFE ENTERPRISES					\$56,307,102

ANIMAL ENTERPRISES PRODUCTION

38

Cattle & Calves (Total)

DAIRY

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			400	head	\$213,234
400-500 lbs.			540	head	\$326,762
500-600 lbs.			400	head	\$262,834
Steer Calves (Total)					\$802,830
Heifer Calves					
300-400 lbs.			300	head	\$140,333
400-500 lbs.			310	head	\$169,590
500-600 lbs.			100	head	\$61,963
600-700 lbs.			100	head	\$69,771
Heifer Calves (Total)					\$441,657
Yearling Cattle					
600-700 lbs.			120	head	\$741
700-800 lbs.			35	head	\$234
Yearling Cattle (Total)					\$975
Cow-Calf Pairs (Total)			55	pair	\$53,852
Cull Cows (Total)			300	head	\$118,907
Cull Bulls (Total)			35	head	\$32,482

TERREBONNE PARISH

3,200 No. Cows

\$1,450,702

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs

⁴⁻⁵ months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

TERREBONNE PARISH

ANIMAL ENTERPRISES PRODUCTION

Number of Production DAIRY Dairy Goats (Total) * 6 Total Adult Does Dairy (Total) HORSES Brood Mares Show Horses Recreation Horses Brood Mares (Total) Stud Fees Race Horses Recreation Horses Recreation Horses \$	Total Production	Units of Measure	Gross Farm Value
Dairy Goats (Total) * 6 Total Adult Does Dairy (Total) HORSES Brood Mares Show Horses 12 14 No. Brood Mares Recreation Horses 25 12 No. Brood Mares Brood Mares (Total) Stud Fees Race Horses * 2 No. Stallions Show Horses 2 No. Stallions Stud Fees (Total) Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) Race Horses (Total) *		Dougle	
Does Dairy (Total) HORSES Brood Mares Show Horses 12 14 No. Brood Mares Recreation Horses 25 12 No. Brood Mares Brood Mares (Total) Stud Fees Race Horses * 2 No. Stallions Show Horses 2 No. Stallions Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *		Daymda	
HORSES Brood Mares Show Horses 12 14 No. Brood Mares Recreation Horses 25 12 No. Brood Mares Brood Mares (Total) Stud Fees Race Horses * 2 No. Stallions Show Horses 2 No. Stallions Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *		Pounds	
Brood Mares Show Horses 12 14 No. Brood Mares Recreation Horses 25 12 No. Brood Mares Brood Mares (Total) Stud Fees Race Horses * 2 No. Stallions Show Horses 2 No. Stallions Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *			
Show Horses 12 14 No. Brood Mares Recreation Horses 25 12 No. Brood Mares Brood Mares (Total) Stud Fees Race Horses * 2 No. Stallions Show Horses 2 No. Stallions Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *			
Recreation Horses 25 12 No. Brood Mares Brood Mares (Total) Stud Fees Race Horses * 2 No. Stallions Show Horses 2 No. Stallions Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *			
Brood Mares (Total) Stud Fees Race Horses	2	head	\$8,000
Stud Fees Race Horses * 2 No. Stallions Show Horses 2 No. Stallions Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *	10	head	\$15,000
Race Horses * 2 No. Stallions Show Horses 2 No. Stallions Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *			\$23,000
Show Horses 2 No. Stallions Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *			
Recreation Horses 2 No. Stallions Stud Fees (Total) Race Horses (Total) *	6	mares bred	\$15,000
Stud Fees (Total) Race Horses (Total) *	10	mares bred	\$15,000
Race Horses (Total) *	10	mares bred	\$5,000
Race Holses (Total)			\$35,000
Show Horses (Total) 10	40	head	\$480,000
Show Horses (Total)	70	head	\$350,000
Recreation Horses (Total) 40	170	head	\$255,000
Horses (Total)			\$1,143,000
POULTRY			
Edible Eggs (Total) * 80 No. Hens	160	doz. eggs sold	\$104
Breeder Flocks (Total) * 20 No. Birds	7	doz. hatching eggs sold	\$3
Poultry (Total)			\$107
RABBITS			
Fryers (Total) * 110 No. Animals	520	lbs.	\$416
Does (Total) * 50 No. Animals	280	lbs.	\$42
Rabbits (Total)			\$458
SHEEP			
Wool (Total) 30 No. Sheared	185	cwt.	\$46
Slaughter Lambs (Total)	8	head	\$1,272
Show Lambs (Total)	O		· · · · · · · · · · · · · · · · · · ·

SHEEP				
Stocker Sheep (Total)			8 head	\$600
Cull Sheep (Total)			7 head	\$385
Sheep (Total)	*	18 No.Breeding		\$4,703
		Ewes		
GOATS				
Show Goats (Total)			8 head	\$1,800
Stocker Goats (Total)			3 head	\$260
Cull Goats (Total)			2 head	\$120
Goats (Total)	*	6 No. Does		\$2,180
SWINE				
Show Pigs (Total)			7 head	\$1,995
Feeder Pigs (Total)			12 head	\$374
Slaughter Hogs (Total)			6 head	\$784
Culls (Total)			10 head	\$1,680
Swine (Total)	*	4 No. Sows		\$4,833
EXOTIC ANIMALS				
Deer/Antelope (Total)	*	30 No. Animals	5 head	\$625
Exotic Animals (Total)				\$625
TOTAL ALL ANIMAL ENTERPR	ISES			\$2,606,607

TERREBONNE PARISH \$70,248,701 279